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44 H 3#A: D
813 519 626 141 896
x114 x705 x916 x569 x804
482 717 851 745 353
x969 x967 x570 x985 x438
310 605 182 237 982
x339 x234 x949 x410 x249
361 539 125 442 543
X612 x381 x981 x758 x241
719 577 330 669 119
x651 x646 x708 x560 x671
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3f L2 5
4 H #: P8
813 519 626 141 896
x114 x705 x916 x569 x804
3252 2595 3756 1269 3584
813 0 626 846 0
813 3633 5634 705 7168
92682 365895 573416 80229 720384
482 717 851 745 353
x969 x967 x570 x985 x438
4338 5019 0 3725 2824
2892 4302 5957 5960 1059
4338 6453 4255 6705 1412
467058 693339 485070 733825 154614
310 605 182 237 982
x339 x234 x949 x410 x249
2790 2420 1638 0 8838
930 1815 728 237 3928
930 1210 1638 948 1964
105090 141570 172718 97170 244518
361 539 125 442 543
x612 x381 x981 x758 x241
722 " 539 125 3536 543
361 4312 1000 2210 2172
2166 1617 1125 3094 1086
220932 205359 122625 335036 130863
719 577 330 669 119
x651 x646 x708 x560 x671
~719 3462 2640 0 119
3595 2308 0 4014 833
4314 3462 2310 3345 714
468069 372742 233640 374640 79849
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